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I'TS323 — Data Transmission Notes
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Figure 1: Time domain plot of multiple signals; Lecture 06
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Figure 2: Time domain plot of signal s1; Lecture 06
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Figure 3: Time domain plot of signal s2; Lecture 06
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Figure 4: Signal equation and characteristics of signal s2; Lecture 06

» -( ) [v) S&) Q[gl{\(tm{)-}- SI/\(llﬂfﬂ

* R
2924 = 6He

L

73 -

#xsi-

2 4 6 % lo 2 4 lé{[Ha]

Figure 5: Frequency domain plot of signal s2; Lecture 07
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Figure 6: Time domain plot of signal s3; Lecture 06
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Figure 7: Signal equation and characteristics of signal s3; Lecture 06
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Figure 8: Frequency domain plot of signal s3; Lecture 07
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Figure 9: Time domain plot of signal s4; Lecture 06
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Figure 10: Frequency domain plot of signal s4; Lecture 07
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Time domain plot of signal s with 27 components; Lecture 06
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Figure 12: Transmission scheme for noise example; Lecture 08
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Figure 13: Attenuation and Noise; Lecture 09
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Figure 14: Sine Wave and Noise; Lecture 09
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Figure 15: Square Wave and Noise; Lecture 09
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Figure 16: Signal with 2 Levels (1); Lecture 09
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Figure 17: Signal with 2 Levels (2); Lecture 09
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Figure 18: Signal with 4 Levels (1); Lecture 09
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Figure 19: Signal with 4 Levels (2); Lecture 09
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Figure 20: Nyquist Capacity Example; Lecture 09
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Figure 21: Signal to noise ratio; Lecture 10
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Figure 22: Shannon and Nyquist Capacity Examples; Lecture 10
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Figure 23: SNR in dB; Lecture 10
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Figure 25: Amplifier Gain; Lecture 10
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Figure 26: Communications System Loss; Lecture 10
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Figure 27: System Gain; Lecture 10
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Figure 28: dBW and dBm; Lecture 10
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Figure 29: System Gain in dB; Lecture 10
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